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1 = goo E 1,000,000
2 = goo E 550,000
T3 = goo E 335,000
T3 ("] g E 335,000
T5 = ooo E 215,000
T5 = ooo E 215,000
T7 = goo E 151,666
T7 = goo E 151,666
T7 = goo E 151,666
T10 = ooo E 121,250
T10 = ooo E 121,250
T10 = ooo E 121,250
T10 = ooo E 121,250
T14 = ooo E 97,500
T14 = ooo E 97,500
T14 = ooo E 97,500
T14 = ooo E 97,500
T18 = ooogs2 E 80,000
T18 = goo E 80,000
T18 = goo E 80,000
T21 = ooo E 67,500
T21 = ooo E 67,500
T23 = goo E 56,333
T23 ("] g E 56,333
T23 = goo E 56,333
T26 = ooo E 49,500
T26 = ooo E 49,500
T26 = ooo E 49,500
T26 = ooo E 49,500
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49,500
49,500
49,500
49,500
44,500
44,500
44,500
41,250
41,250
41,250
41,250
38,333
38,333
38,333
36,500
34,666
34,666
34,666
31,666
31,666
31,666
31,666
31,666
31,666
28,500
27,500
26,750
26,750
26,000
25,500

25,000
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